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Mathematics

2 Mareh 2016 Common Test
GRADE 10

INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions:

L.

2.

This question paper consists of 6 questions.
Answer ALL the questions.

Clearly show ALL calculations, diagrams, graphs, et cetera, which you have used in
determining the answers,

Answers only will NOT necessarily be awarded full marks.

You may use an approved scientific calculator (non-programmable and non-graphical),
unless stated otherwise. ( a

If necessary, round off answers to TWO decimal places, unless stated otherwise.

Number the answers correctly according to the numbering system used in this question
paper.

Write neatly and legibly.
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Mathematics 3 March 2016 Common Test

GRADE 10

QUESTION 1

1.1 Determine the product of the following and simplify fully:
(x —4)(x* +4x +16)

{2 Factorise the following completely:
pr+2pg gt -1

1.3 Simplify the following expression fully:

X + X
() X 4342 x7 -4

QUESTION 2

21  The total surface area of a closed right cylinder is given by S = 2 + 2mrh,
Write down A, the height of the cylinder, in terms of S, 7 and r.

2.2 Solve for x and y if:
¥+2y=4 and 4x+5y=1
2.3 Solve the following inequality: 1~5x > 3x~7.

Hence, illustrate your answer on a number line if x is a real number.

e,
B

24  Solve for x: (x~3)(x+2)=-6

2.5  The length of a rectangle is 40 cm longer than its breadth. If the area of the
rectangle is 1200 cm?, calculate the length of the rectangle.
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Mathematics 4 March 2016 Common Test

GRADE 10
QUESTION 3
If p+qg™ =-3 and p*+¢™ =6, calculate the value of i’; 3]
QUESTION 4

4.1  Without using a caleulator, simplify the following expressions fully:

-2
411 (x—y)+ GJ ~2° “4)
6.\‘“2‘ 2x+2
412 4
2 4,\"3.\~-—4 ( )
4.2 Solve for x in each of the following equations:
421 5 =1 (1)
4'2‘2 2.\‘+1 . 2x - 16 (3)
[12]
QUESTION 5
If 5 =25, determine the value of 52 3]
QUESTION 6
The area of a square is 45 cm’.
6.1  Is the length of the side of the square a rational number or an irrational number?
Explain your answer, (2)
6.2  Without calculating the length of the side of the square, show that its value lies
between 6 and 7. (2)
[4]
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